@ In an attempt to break out of jail, Diamond Jim (DJ) and Scarface (S) connect a lot
of identical springs which they managed to lift from their beds. They tie one end
of this chain of springs to their window frame and jump out together while holding
on to the other end. This of course, results in their oscillating vertically like yo-yos
with some period To. Suppose that DJ and S have the same mass m and that the
mass of the spring chain is negligible compared to m. Suppose further that, in a
Shen <~ moment of panic,'DJ lets go while S continues to oscillate, If frictional energy
4. dost8%  losses are negligible, then Scarface’s period of oscillation is
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\@ A simple pendulum of length £ is tied to the ceiling of an elevator. When the elevator moves
up with acceleration a = 0.5 g, the period of the pendulum i8
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